H & 0l & AHS B Ml A

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
HEH 2,101,685 1,747,780 353,905
0l 0= MHIA HS(HEH) 713,815 701,285 12,530
SEH0 FEH 2 713,815 701,285 12,530
Y2 U Ze|(HEH) 163,613 158,613 5,000
201 =3 50,073 45,073 5,000
02 324l 37,800 32,800 5,000
OFA 30,400 25,400 5,000
-H=H| Z& 10,000,000 10,000 5,000 5,000

& 2 Y SA2(HFEH) 205,192 199,162 6,030

At = 11,430 5,400 6,030

AL EZFHSHI 11,430 5,400 6,030
O=oag4 HOlIZ ¥ X 620 0 620
OBAMRA 394 AMRES 5,410 0 5,410
XA 2 (F&EH) 17,200 15,700 1,500
LBEN S 1,500 0 1,500
SHAAHIXIR 3 1,500 0 1,500
O=F2XXAJ KHHZEH NF XA 1,500 0 1,500
FOHOISA X9 (HEH) 786,000 664,000 122,000
ZEJUE NANL(FHEH) 786,000 664,000 122,000
A2 FO=SIAA(HEH) 500,000 500,000 0
401 Al HIZL 200 500,000 500,000 0

01 AlZHI 500,000 500,000 0

OZE OISti=Z2ZHISAt S 62 AAIZ A
9 16,700 0 16,700

433 03 0 10,500 10,500
OAlZE OISti==Z ZHISAl
34 02 0 10,500 210,500
O&cl OI=MEEdISA
2 & 15,730,000& 16,730 10,500 5,230
OHdg1 Mt=ssZ2EESA
Z& 21,053,000 21,083 10,500 10,553
OdE2 iessZZESA
23 23,831,000& 23,831 10,500 13,331
OJ=E OISti=2FHISAt
38 02 0 10,500 210,500
Ot =d D=2 LH=2FHIS At
433 o0& 0 11,550 211,550
OZE llesZZHSA
dd 22,000,000& 22,000 10,500 11,500
OFE OISti=Z ZHISAt
38 02 0 10,500 210,500

433 o0& 0 10,500 10,500




A HEe
Ha: FOIHOEY X

=
el Z8U=s KNS

SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2

EE 24,271,000 24,271 10,500 13,771
Oattl OI2I1SAIE EEIS AL
& 20,000,000& 20,000 10,500 9,500
OALE OFSJ1BHAIE EHIS AL
& 20,004,000 20,004 10,500 9,504
O1d OESYI1BtAIE EEIS A
&3 23,100,000 23,100 10,500 12,600
O & OISO0IAZHM RIS A
a3 22,821,000 22,821 10,500 12,321
O4l=1 OFSJIBAIZ EHIS AL
33 03 0 10,500 210,500
O4lE2 OHESJ1BtAIE EBIS At
34 02 0 11,550 211,550
O=81 OI=JIBtAIE EHIS AL
34 02 0 10,500 210,500
OZ=2 OtSIBtAIE EHIS A
&3 20,690,000 20,690 11,550 9,140
O4e OISYIBtAIE EEIS A
ZE 14,426,000 14,426 11,550 2,876
OFd1 OISJIBtAIE EHIS AL
34 02 0 10,500 210,500
OR4d2 OFSJ1BtAIZ EHIS At
33 03 0 10,500 210,500
OXIZ Ot=Y1BtAIE EEIS A
d& 20,060,000 20,060 10,500 9,560
OUEl OI2I1SAIE EEIS At
d& 25,919,000 25,919 10,500 15,419
O=g1 OtSti==2 HH|SAt
33 03 0 14,900 214,900
O=d2 IIi==s2X =2 ZHIZS At
34 03 0 11,550 211,550
Ozt liesZ2H =2 IS At
& 20,000,000& 20,000 11,550 8,450
OAR19} DISti==2FHISAt
ZE 24,291,000& 24,291 10,500 13,791
Osd lies2 2 SA 33 03 0 10,500 210,500
O0IE iessZ2Z2HSA
33 26,272,000 26,272 10,500 15,772
OH&1 NISsSZ2EESA 33 o0& 0 11,550 211,550
Oat&2 DHSJIBtAIZ EEIZ At
433 o0& 0 11,550 211,550
O4&3 OSIIBAIZ EBIS A
34 02 0 10,500 210,500
Ods4 IIssZ2EESA
& & 20,000,000 20,000 10,500 9,500

ZF 24,919,000& 24,919 10,500 14,419




S HHD
Ha: FOIBOISY K|

=
ol IEUS XS

HAH) (S &)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o blnE2
OUWALE OISO0tAZSMN RIS AL
Z2& 03 0 11,550 211,550
OUd DISsZ2EZESA ZE 02 0 10,500 10,500
OSE1 OI=2JIBAIE EHISA
Z2& 20,000,000& 20,000 10,500 9,500
OYE2 OS2I BtAIZ EHUI B AL
28 24,140,000 24,140 10,500 13,640
ONeE ies=2Yi=2 IS At
ZE 02 0 11,550 A11,550
OXIE1 OS2I AIE EHISA
28 02 0 10,500 210,500
OXIE2 OS2 FHI S Al
238 16,173,000& 16,173 10,500 5,673
O=21 OISIIBAIZ ZBIS A
ZE 02 0 10,500 A10,500
2SS A2 (HEH) 254,000 132,000 122,000
201 2| 144,000 72,000 72,000
02 23244l 144,000 72,000 72,000
OoJzs A=
A& 12,000,000+ 122 144,000 72,000 72,000
401 AIEHIZL 28I 110,000 60,000 50,000
01 Al&Hl 110,000 60,000 50,000
OZAIZ2S RXE+
Z & 30,000,000 30,000 10,000 20,000
Os&E2S 7ANE=
Z & 80,000,000& 80,000 50,000 30,000
HYSHZH(HEH) 561,372 341,997 219,375
OlA2HH|(HAH) 440,850 221,475 219,375
QIAH|(E&EH) 440,850 221,475 219,375
101 el H| 438,750 219,375 219,375
03 SR (RIHL) 22X E = 438,750 219,375 219,375
O3 2EXH(&A0I5HR) oY
Z& 433,750,000 438,750 219,375 219,375




